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QUESTION 1

On which provider is IBM Cloud\\'s CDN service based? 

A. Cisco 

B. Amazon 

C. Akamai 

D. IBM Cloud itself 

Correct Answer: C 

 

QUESTION 2

In IBM Cloud, what function does a public gateway in a Virtual Private Cloud (VPC) provide? 

A. Name resolution to allow traffic to find the website 

B. Extension of on-premises resources to the cloud 

C. Internet connectivity to the web servers 

D. Load balancing to the app servers 

Correct Answer: C 

 

QUESTION 3

After selecting all items to be part of the total configuration in the IBM Cloud Cost Estimator, in which two file formats
can the results be downloaded? (Choose two.) 

A. XLSX 

B. JSON 

C. PDF 

D. XML 

E. DOCX 

Correct Answer: AC 

 

QUESTION 4

A company has decided to implement cloud computing service models (laaS, PaaS, SaaS), and is defining the right
persona to use each of them. 
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Who will be the typical user for laaS? 

A. Sales Engineer 

B. Line of Business user 

C. System Administrator 

D. Developer 

Correct Answer: C 

 

QUESTION 5

Which type of database would be appropriate for a high transaction database? 

A. graph 

B. relational 

C. document 

D. key-value 

Correct Answer: A 
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